
Löse folgende Gleichungen.  

Berechne zur Kontrolle jeweils die Probe. 

 

1.   
3

1

2

12
=

−x

 

 

2.   22)10(21327*635 ++−=+−− xxxx  

 

3.   2*335
12

66

4

3
+−=

+
+ xx

x

x  

 

4. 3*29)102(1327)6(35 ++−=+−−− xxxx  

 

5. 29102132)7()65(3 ++−=+−−−+ xxxx  

 

6. 96*)17(*
9

1
2

14

39
−−=+

−
xx

x

 

 

7. 
84

210
5,26

4

46

3

1
20

+

+
−=

−
+•

xxx

x  

 

8. 
2

4060
5,725,72)5,305,20(5,3

−
−−=−•

x

xx  

 

9. 
2

8,3475
5,1134331245325,7

+•
=•+−+•−•−++•

x

xxxx  

 

10.   1,22 + 2,7x � 2 - 1,5x - 0,525 : 7,5 = 11,01 + 1,5 � 1,1x - 3,3 

 

11. 2)91,08,444,09,1(127,182,325,195,2 •−−+=+−•−− xxxxx  

 

12. 2)611(45,0:
2

1
142123)5(

4

328
•+−−=+−− xxx  

 


